(BEAR = P

HE] =4 : it
ey | 3 I . | | ax
B oW F &
1. KMERfE
() R F 39 rE '
AAEFNA L (55400) (M1 0X16mn 0000 M. ke 192
7o HE b (55400) M1 2 X1 6mn 0000 M. kg i
A BN+ (35400) M10X2Omn 0000 M. ke 193
AAERAF (35400) M12 X2 0m 10000 M.~ kg 175
FRE A+ (55400) M14X20m - 10000 H. ke 192
AR {55400} MI6X20m 0000 M./ ke 151
AAALF {85400) MIOX25m 0000 M/ ke 196
A A (55400} M12X25m 0000 M. ke 177
BB (85400} M14X25mn 0000 M/ kg 193
AEHRA P (85400) M16X25E5mm 0000 M./ ke 150
REAHA T (85400) M10X30m 0000 A kg 197
A b (55400) M1 2X30m 0000 o ke 178
FE AL N (55400) M14X3Om 0000 B ke 191
Ffa R b (85400) M16%30Omn 0000 B ke 151
AR b (S3400) M20X3 Om 0000 BEPAT 150
~ARNLF (55400) M2 2X3 Omm 0000 M, ke 166
~EFA b (55400) M2 4X3 Omm 0000 H. kg 161
AR T (SS400) M10X3 50w - leoco M. ke 191
A EAL - (55400) M12%X3S5mn 0000 . kg 178
7f - k (55400) M14X35m 0000 B ke 193
7ot A b {85400) M16X35m .{oooo M, ke 151
AAAL b {55400} M20X35m 0500 [ 150
AE AR {55400} M22X35m 0000 M. ke 156
~AHEA L (55400) M24X3Em 0000 M kg 160
ABEFA P (55400) M10%40mn 0000 M kg 189
e R (55400) M12X40mm _foooo A/ kg | E-3-P§5
A b (S5400) M14X40mm 0000 B ke 192
BN (88400) M18X40mm 0000 . ke 151
FAEFN b (38400) MZO0X4 O 0000 5, ke i62
A~ FEA b (85400) M2 2%X4Cmn 0000 .7 ke 156
AR R (S8400) M10OX45mn 0000 B, ke 187
kk16_EHRER .xls 1716
(B : M)
¥ HE E}K ;ii-{rﬁ ML e = %
REFNF(85400) IM12xX4 5mm 0000 P/ kg } E-3-P65
758 AL - (35400) M14xX45mm 0000 M ke 194
FAAEL T {55400) ML6BX45m 0000 ./ ke 151
A B (554003 Mi8X4 5mm Doao ke 246
AEAEA B (55400) M20X456m Qoo M. kg 152
AR b (85400) M22X45m 0000 B ke 156
SR AN R (§5100) M2 44 5mn 0000 M. kg 161
AR b (58400) M10OX5 Omn 0000 B/ ke 185
AAAENL b (55400) M12X5Cmm 0008 B ke | B-3-Pe5
AHE b (55400) M14X5 0Omm 0000 1M ke | 193
REREAL  (55400) M18X5 G 0000 M, ke | H-3-Pes
AL b (88400) M18%5 0mn G000 B ke 248
A EN + (55400) M20%X5 0m 0000 B kg | BE-3-P65
AR R {85400} M22X50m 0000 B kg | Et-3-P66
7B A b {85400} M24X50ms 0000 B ke | EE-3-P66
AL b (55400) M3 CX5Omm 0000 M. ke 213
7o A b (55400) M10X5 5nm 0000 M. ke 183
RN B (85400) M12%X55mn 0000 M kg | B-3-P65
S~ERAF (55400) M14X5 Bmn 0000 B/ ke 193
~fHENL + {55400) M16X5 5m 0000 B/ ke 161
AAFN F (85400) M1B8X55m 0000 B ke 245
AN (55400) M20X5 5mm 0000 B ke 152
AAERN L (55400) M22X55mm 0000 M. ke 156
AARNL b (55400) M24 X5 5m 0000 B ke 161
A& A R {55400) M30X55mm 0000 M, ke 213
AEFEA b (55400} M1i0X60m 0000 1.~ kg 184
FEFA T (85400) M12 X6 0w 0000 M hg | E-3-P85
AERA T (55400) M1dX6 Om 0000 7, kg 193
Aaaa )k (Ss400) M16X6 Omn 0000 M. kg | B-3-P55
AR B (55400) M18X65 Omn 0000 M kg 246
AR L (S5400) M20 X6 Omn 0000 B/ kg | B-3-P65
BB R (55400) M2 2 X6 0mn 0000 B/ kg | E-3-P86
AR (55400) MZ 4 X6 Omn 0000 B ke | BE-3-P6s
ARPNF(55400) M30X6 Cnn 0000 ke 213
7B A+ (55400) M36X6 Omn 0000 MH/ kg 237
FofdA b (85400} M10X8 B5am 0000 M./ kg 183
k16 MR I xls 2/16

178



(B ¢ M)

179

S wi g ﬁﬁ B —m =
A EAL R (55400} M1 2X65m 0050 P ke | B-3-P6b
B ABA R (88400} M14 X6 5m 0050 M,~kg 193
A A B (55400} M16X65m 0000 B ke 151
AR b (55400) M18X6 5m 0000 M. kg 246
A AR (88400) M20 X6 5mn 0000 | M., kg 152
A AN (55400) M2 2 X5 5mm 0000 M. ke 166
AR (58400) M2 4 X5 5mn 0000 H. ke 161
7R b (55400) M3 0OX65mm 0000 M. ke 213
ANE AN (55400) M3 6 X6 5m 0000 M. ke 237
7R B (85400) M10X7 Omm 0000 M. ke 180
| RFHENMT (55400) M12X7Om 0000 A/ kg | HEE-3-P65
CAE AL R (85400) M14X7 Omn 0000 B, kg 194
AEFEA b (55400) Mi6X70m 0000 kg | B-3-P65
A HEA R (55400) M18X70mn 0600 B/ ke 246
AEFEA - {55400) M2 0 X7 0mm 0000 B ke | HE-3-P65
AEARA {55400 M2 2 X7 0me 0000 M. ke | E-3-Pe6
SAEA P {85400} M24X70m 0000 M. kg | E-3-P66
AA XM {55400} M3 0 X7 O0m 0000 M. ke 214t
A AA b (85400) M3 6X70m 0000 A ke 237
AR+ (85400) M10X7 Smm 0008 B ke 179
A B (85400) M12X7 Gmn 0000 H,kg | E-3-P65
FSE AN+ (55400) M14X7E5m 0000 o, ke 193
A AN (83400) M1B8XT75m 0000 ke 151
7<E AR b (55400) M18X75m 0000 H./ kg 246
A0 b (55400) M2 0 X7 5m 0000 M./ ke 152
ARk RN b (55400) M2 2 X7 5m 0000 B ke 156
7L b (88400) M24X75mm 0000 H. kg 161
AEFEN b (55400) M3 0X7 Smm 0000 M, ke 213
AfAAEL b (554000 M3 6X75m 0000 B ke 237
AR (55480) M10X80m 0000 M. kg | #-3-ps7
AEFEA (55400} M12%80m 0000 M. kg | H-3-P65
~AHL - (85400) M14X8Omm 0000 B, ke 223
AE#EN b+ (85400) M16 X8 Dmn 0000 B ke | B-3-P65
AE A (55400) M1BX80mm 0000 M. ke 246
AFat b (55400) M20X8 0mm 0000 M./ ke | H-3-Pas
AAEFAF (55400 M2 2 %8 Cm 6000 M./ kg | B-3-Ps6
kk16_ Rk (R xIs 3/16
(B4 [)
B o T fren
FfE A b (85400) M24X80mn 0000 M, kg | H-3-P66
FAE AL (85400) M3 0 X8 Omm 0000 8. ke 214
MEFRA (85400 M3 6 X8 Dmn 0000 B/ ke 237
AR (55400) M4 2X80mnm 0000 i, ke 261
SAFA T (83400} M10X85m 0000 ke 226
ARk (55400} M12X85m 0000 M, kg | B3 bbb
AAHRA L (53400) M14X85m 0000 M. ke 222
AR b (55400) M16 X8 5mm 0008 H. ke 152
AR (85400) M1 BXE86Em 0000 M./ ke 246
AEAFA L (55400) M2 0 X8 5m 0000 M kg 152
AERA B (55400) MZ2XB5m £000 8 kg 156
7B F b (35400) M2 4X8 Em 0000 A, kg 1561
BN b (85400) M3 0XB Smm 0000 kg 213
AR b (85400 M10 X9 Omm 0000 N/ ke | $-3-P5T
AR {55400 M1 2X9 0mn 0000 B ke | HE-3-P65
AR b (85400} M14X9 Onn 0080 B ke 222
A A L (58400) M16XS9 Omm 0000 B kg | E-3-P65
AHEHRNL P (55400) M1BXSOmm 0000 M, ke 246
A A b (S5400) M2 0 X9 Om 0000 M kg | H-3-Pg5
A A b (55400) M2 2 X9 0m 0000 M. ke | H-3-P66
FEEA L (55400) M2 4 X9 Onn 0000 M, kg | B-3-Pa6
A AV | (85400) M3 0X9 Onm 0000 g/ ke 214
AEAA L (55400) M3 6X9 0mm 0000 M, ke 237
7oA A+ {58400) M4 2X80mm 0000 A, kg 281
AEFEL P (55400) M10X100m 0000 A/ kg | FH-3-P5T
FEHEA R (55400) M12X100m 0000 B kg | B-3-P65
~EEAF (35400) M14X100mm 0000 M ke 222
AEEA T (85400) M16x100m 0000 B ke | B-3-P65
AAHAA+ (55400) M18xX100m 0000 MG/ ke 246
A FA b (55400) M20X100m 00090 M,/ kg | B-3-P65
AEFA b (35400) M22X100mm 0000 M/ kg | H-3-P66
7R b (85400) M2 4X100m 0000 9. ke | E-3-P66
AEAN F (55400) M3IO0X100m 0000 B ke 214
A AN b (85400) M3BX100m 0000 . ke 237
~AEN F {55400) M4 2X100m L0060 M kg 251
AEBRA R ($5400) M4 8X100m 0000 A,/ kg 284
Kk 16_BEHETR IR xls 4/16



(HL4E = 1)

HIE

R

ot bk ERMEESS i 2E1H iind
AAF - (55400) Mi10x%110m 0000 M %e | F-3-P57
AR (53400} M12X110m 0000 M. kg | #H-3-P57
FoB AN B (88400) M14X3110mm 0000 . kg 222
AHEEN F(S5400) M16X110m 0000 M kg | E-3-P65
ASEHRNF (55400) M18X110nmm 0008 H, kg 245
AEHEL R (85400) M20%X110mn 0008 M, kg | F#&-3-P65
FEEL b (S5400) MZ2x11Cmm £000 B kg 156
<5 ALk (85400) MZ4X110m 0000 M. kg 161
AEHEL L (85400) M30X110m 0000 B kg 214
FEHA b (83400) M36X110m 0000 B ke 237
AEAAF {55400) M42X110mm 0000 M. ke 261
~ERN P (55400) M48X110m 0000 9./ ke . 284
AERA L (55400) M10X12Omn 0000 B %e | B-3-P57
ABFEAF (58400) M12X120m 0080 o/ %eg | H-B3-P6T
AER (85400} M14X120m 0000 B/ ke 222
AR (85400} M16X120m 0000 M. kg 1 #-3-P65
REFN T (55400) M18X120mm 0000 M ke 246
FE A b (55400) M20X120mm 0000 A kg | FE-3-P6b
A b (85400) MZ2X12C0mm 0000 B. kg | H-3-P65
AEFEAL b (55400) M24x12Cm 0000 B kg | H-3-P66
<EMA b (85400) M30X120mm 0000 B kg 2i4
AERA B (88400) M36X120mm 0000 ke 237
7 HA F - (55400) M4 2x120m 0000 M. kg 261
AP (55400) M4BX12O0m 0000 A,/ ka 284
~ERA L (§5400) M10X13Ome 0000 M kg | FH-3-P57
AARN L (55400) M12X130m 0000 M kg 1 H-3-P5T
AT (85400} M14x%X330m 0000 M. kg 223
FAEFA b (55400) M16X130m o000 M/ ke | H-3-P65
AR+ (55400) M18X130mm [HT) A, ke 246
FSEFN - (53400) M2 0x130m 6000 M, kg | E-3-Ps5
AEHRL T (58400) M22%X13C0m 0000 B ke 166
A FEN P (53400 M24X130mm 0000 H./ ke 161
ZEHEL b (55400) M30X130m 0000 B ke 214
AEBEA P {S5400) M3 6X13 O 0000 M. kg 237
AEHEM R {S5400) M4 2X13 0m 0000 H. kg 261
AR {55400) M48X130m 0000 B ke 284
kki6_ BAHERR IE xis 5/16
BE[ 2| L OB
S bk iy B O Bidr iA1E w5
B R (§5400) M10X140m [ M, kg | #-3-P57
FEHEN b (55400) M12X14Omm 0000 A ke | $H-3-P6T
AEFN b (35400) M14x140um 0000 B ke 222
AARN L (55400) M16X140m 0000 B ke | H-3-P65
KEARA B (55400) M1BX140m 0800 5. kg 246
A AR R {55400) M20X140pn 0000 M. ke | B-3-P65
B AN P (53400) M2 2%X140m 0000 M ke 157
AERN L (85400) M24X1d40m 0000 | B/ ke 161
AEHN b (55400) M30OX140m {oooo H. ke 214
FAFN B (55400} M36xX140m 4000 N kg 237
AN B (55400} Md4d2%140nn D000 B/ ke 261
AEFA - (35400) M48%X140m 0000 H kg 284
AEARA L (s5400) M10X165C0m 0000 B ke | PE-3-P57
ANHAA b (55400) MI12X150m 04000 M. ke | FE-3-PBT
SEHEL b (55400) M14X150m 0000 13,7 kg 223
RV - (58400) M16X15 Omnn 0000 B kg | &-3-P65
AE BN (55400) M1EX165 Qmm 0060 ke 246
AERAV B (55400) M20X 165 Omm 0000 B ke | E-3-P65
AR (85400) M2 2X150mm 0000 M. kg | B-3-Pe6
AE BN (35400) M24X150m 0000 MAke | B-3-P6s
AEFL R (35400) M30X150ms 0000 . ke 214
ANA#A b (85400) M36%X15 Onn 0000 M, kg 237
FEFEA b (85400) M42X150m 0000 H. kg 261
AE B (55400) MA48X150m 0000 B kg 284
A AN (58400) M10X160m 0000 H./ kg 226
AEHEA P (S5400) M12X186 Omn 0000 B ke 228
AABEAF (55400) M14%X160m 0000 . ke 222
AT (S5400) M16X160m 0000 M. ke 199
ARAFEL (55400} MIBX160m 0000 H./ ke 218
AEAFN P (55400) M20X160m 0000 M. kg 199
AE A (35400} M22X18 0mm 0000 o, kg 204
SR AL b (S5400) M24%160m 0000 M. ke 214
A B (55400) M3 O0OX16ECm 0000 o ke 214
AE AL B {55400) MABX160mm 0500 M, kg 237
AR - (88400) M4 2X16 0mm 0500 H. kg 261
AR b (55400) M4 B8 X186 0mm 0000 . kg 284

180

kk16_BERLER 5 .0s 6/16



(B ¢ )

BE] BAE - B
S Pk b | ap | ¥ ETE i
Af AN b (85400) M10X17 Omm 0000 M. ke 223
AN R (85400) M12X17O0nm 0000 T ke 227
AE A (55400) M14X17 Onn 0000 H. kg 223
AR (58400) MI16X170m 0000 M. ke 199
A AN b (85400) M18X170m 0400 M. kg 218
FE R b (55460) M20X170m 0000 B, ke 198
AEA)N L (55400) M2 2X170nm Dooo kg 204
AAFEA L (S5400) M24X170m 0000 B ke 214
AAFEAF (85400) M3CX17Omn 0000 FH ke 214
AAARNLF (55400) M36X17Omn 0000 B, ke 237
AEFREA - (55400} M4 2%X170mn 0000 B kg 261
#ERA (85400} MA48X1 7 Omn 0000 9. ke 284
<A EN T {55400) M10X180mn 0000 A kg 225
FE R R (58400} MI1Z2X180m 0000 M. kg 228
~EAA R (S5400) M14X180m 0000 M kg 229
AR {85400) M16X180Om 0000 B kg 199
AAEHRAN L (S5400) M18x18 Om 0000 M. ke 218
AEHA b (S5400) M20X180m 0000 H. ke | E-3-P5T
ABHAF (35400) MZ2X180mm 0000 B, kg | TH-3-P58
AR ($5400) M2 4 %1 8 Omm 0000 . kg | H-3-P58
AEHA b (85400) M3 0X1B Omn 0000 B ke 214
R b (85400) M36EX180m 0000 M, kg 237
AR (S5400) M42X1B0m 0000 B/ ke 261
AR (85400) M48X180m 0000 M, ke 255
A AN b (55400) IM10X190m 0000 B ke 225
AEFN F(85400) M12X190m 0000 B ke 228
AEFRN b (55400) Mi4xX190mm 0000 B~ ke 222
AR b (58400} M16X19 0mn 0000 B ke 199
AARA L (55400) Mi8x190mm 0000 M kg 218
A REA L (55400} M20X190m 0000 . kg 195
AR {85400) M22X190m 0000 M. ke 204
AE AR (S5400) M2 4%X190m 0000 M, ke 214
AARN | (53400) M30x%X190m Q000 B ke 214
AARA B (58400) M36X19 O0mn 8000 H.~ ke 237
AEFEAT (55400) M4 2X19 0mn [rlel] M. ke 261
AARN P (85400) M4 B8X19 Oun 0000 M. ke 285
ki1 B ER w xls 7/16
(B4 : 1)
_ Bt e fﬂi}z ;ﬂﬁ B TR " kel
AMEAA - (85400) M10X200mn 0000 A, ke 226
7B R A b (85400) M12X200pm 0000 H.kg 228
ARERA T (S5400) M14X200m 0000 o kg 223
7 R 1 (88400) M16X200m 0000 |H. ke | #E-3-P57
B AN | (88400) M18X200m 0000 B ke 218
AN R (55400). MZ20X200m 0000 M ke | $H-3-P5T
AAFEL b (83400) M22X200mn 0000 P.<kg | #-3-P58
AB AL (55400} M24X200mm 0000 M. ke | FH-3-PBE
AANL F {55400) M30X200mm 00090 M. kg 214
AAE L b (S5400) M36X20Cmn 0000 M. kg 237
AEEAL T (55400) M42X200m 0000 M./ kg 261
AAFAF ($5400) M4 8X200mm 0000 M. kg 286
AABRN P (55400) M4 2%X220m 0000 B, ke 261
B RN (55400) M4 8X2 2 0Omn 0000 M./ ke 285
e (55400) M42X240mm 0000 M. ke 261
AEFRE (55400) M48X240m 0000 A ke 285
7oA - (85400) M42XZ26 0mm 0000 A,/ kg 261
AEAHNL T (85400) M48X260m 0000 B kg 284
A+ (85400) M4 2X280mm 0000 M, kg 261
ABHEA R ($5400) M4 8 X2 8 Omn 0000 3. kg 284
AEFA (55400} M4 2% 30 0mm 0000 M, ke 261
7B R b (53400) M48X30Q0m 0000 M. ke 285
AAFNF (SUS304) M8 X 20mm 0000 M, ke 706
A HEA R (SUS304) M10GX20m 0000 M. kg | ®-3-P6g
A AN b (SUS304} M12X20m 0008 A kg Tig
AE AL (5US304) M8 % 2 5mm £000 M., kg 707
AN R (3US204) M10X25m $00C M, kz | E-3-P63
KE RN (SU5304) M1 ZX2 Em 0000 M. kg 710
R (5U5304) M16X25mm 0000 M. ke §63
AE R R (SUS304) MBX30mm 0600 M. ke 711
AERA b (SUS304) M10X3Cm 0000 M./ kg | B-3-P58
A HEN B (SUS304) M12X3 0mn 0000 B ke | H-3-P68
RAEFA L (SUS304) M16 X3 Omm 0000 A ke 663
A AN - (SUS304) MB X3 5mn 0080 H. ke 709
NEAL b+ (SUS304) MI10X35m 0000 B % | B-3-P6s
AL R (5U8304) M12X35m 0000 M. %e | #B-3-Pes
kk16 SHERL IR xIs 8/16

181



CELQH : )

L e ) Il N 77— L2 -
AERAL P (5Us304) ML16X35m 0000 ./ kg 664
FofE AP (5US304) MEBX40mm 0000 b/ ke 708
B FEA R (8U8304) M10X40m 0000 M, kg | E-3-P68
S ANL b (3US304) M1l2X40m 0000 i, ke | #-3-P68
AR (5U8304) M16X4 Om 0000 A kg 664
SEANL L (SUSE04) M2 0 X4 0Omn 0000 H./ kg 711
FSA F + (SU5304) MB X4 5mm 000 A/ kg 707
AR (SUS304) M1 0OXd5mm D000 M, kg | ¥-3-P68
AE B F (SUS304) M1Z2X45m 0400 B ke | #®-3-P68
AHEBRA N (SUS304) M16X4Emm 0000 B, kg | E-3-Pas
FEAA T (SUS304) M20X45mn 0000 K/ ke 704
AR F (5US304) M8 X50m 0000 B ke 711
AEFEA P (5U5304) M10X5Cm 0000 B kg 711
AR (5US304) M1 2X5 Cmm 0000 M. ke | E-3-P88
A AN (SUS304) M1 6X5 Omn 0000 A ke | B-3-P68
AEF b (SUS304} MZOX50m 0000 . ke 707
B R (SUS304) MBXES5m 0000 ke 709
7 A b (SUS304) M10X5E5m 0000 K. kg 712
74 RN b (SUS304) M12X55m Q000 o kg | B-3-P6g
~EFEA b (5US304) M16 X5 5m 0000 1 kg | B-3-P68
AR B (5US304) M20X5 5m 0000 A kg 705
AEFEL b (SUS304) MB X 6 Omm 0000 A, ke 710
ABHL P (SU5304) M10X8 Om 0000 B, ke 709
A FEA b (SUS304) M12X60m 0000 B ke | B-3-P68
AERA P (SUS304) M16X6E Omm 0000 M. kg | E-3-F68
=5 R+ (5US304) M20X6 Omn 0000 M kg | E-3-Pa8
E BN b (SUS304) MB X6 5mm 0000 M. ke 709
FE R (8US304) M10OX6S5m 0000 M./ ke 711
AE AN (SUs3ng) M12X6 5 0000 M. kg | F-3-F68
<& RN - (5US304) MI16XE S5m 0000 A kg | E-3-P68
AEFAL L (SUS304) M2 0X6 5mm 0000 M, kg | E-3-P68
AfAEN b (SUS304) MB X 7 Onm 0006 | M. ke 712
FAEHA F (5U8304) M10X70m 2000 A ke 711
AEHL T (3US304) M12X70m 0000 M. kg 711
AR {SU5304) M16X7 Qm 0000 B ke | E-3-P68
AERAF (SUS304) M20X7 O 0000 H ke | #-3-P6B
ki 6_HHRER i xs 9716
; (4 : )
P Wi f:l}z ﬁﬂﬁ B g T %
AP (3U5304) MB X7 5mm 0000 P ke 709
AEFRNF (5Us304) M1 0 X7 E5mn 0000 M. ke 711
&R b (SUS304) M1 2X75m 0000 B, ke 712
BB - (5U8304) M16X7 5m 0000 M ke 662
R (SU8304) M2 0X7 5 0000 A, kg | B-3-P68
AR (SUS304) M8 X 8 Omm 0000 M. kg 710
AR T (5US304) M1 0 X8 Onm G000 M. ke 711
AR (SUS304) M12X8 Omn 0000 8, kg 711
AR A B {5US304) M1 6 X8 Omn 0000 A ke 660
7| AA b (SUS304) M20X8 Oms 0000 H. kg 710
AEHEA P [SUS304) M:O0OX85m 0000 B/ ke 710
AEAHEA T (SUS304) M12 X8 5mm 0000 B/ kg 711
AEHAL R (SUS204) M16X8 5nm 0000 B ke 662
AR+ (SUS304) M20X85mn 0060 B ke 708
AEaL b (SUS304} M8 X 9 Omn 0000 M ke 711
~AFNL b (SUS304) M10X9 0m 0000 M kg 711
AARAF (SUS304) M12X93 Om 0000 A ke 712
AAFA F (5US304) M16X8 Om 0000 M, kg 659
AHE AL (5US304) M20X9 Omn. 0000 M.~ ke 709
FEAA R (SUS304) MBX 10 Omn 0000 M, kg 711
ABAN P (SUS304) M10X100mm 0000 A/ ke 711
AR (SUSi04) M12X10C0m 0000 M, ke 711
ARAN T (SUS04) M16X100mm 0000 B ke 663
7R R b (Susand) M20X100mn 0000 b/ ke 708
IR A+ (SUS304) M10X35mm 0000 B ke 1, 670
MR Ak (5US304) M12X35m 0000 ke 2, 000
MAA b (SU5304) M16X35m 0000 M ke 2,100
WA A~ (SUS304) M10X4Om 0000 M/ ke 1,610
A0 b (505304) M12X40m 0000 B/ kg 1, 860
MAN b (568304} M16X40m Q000 M/ kg 1,940
LA R (5U5304) M10X45m 4000 M, ke 1, 530
MR+ (3US304) M1 2 X4 5nm 0000 M. ke 1, 880
MAA F (SUS304) ML16 X4 5mm 0000 g ke 1, 940
LA T (SUS304) MLOX5EOm 0000 A, ke 1, 500
IRA b (SUS304) M12X5 O0m 0000 B ke 1, 800
WA (5US304) M1B X5 0m 0000 B kg 1, 89O
ki1 6_BE B (5 s 10/16

182



(HAT - F)

B _ s BE] BT e [geg i3 e
I+ (SUS304) M10X%X55m 0000 M kg 1, 640 )
MAA b (SUS304) M12ZX56E6m 0000 M. ke 1, 850
MmN+ (SUS304) M1 BX55mm 0000 ke 1, 520
A b (5U5304) M10XE Omm 0000 M. ke 1, 580
AN R (SUS304) i1 2 X6 Omn 0006 o, kg 1, 800
A b (SUS304) M186X6 Cnm 0000 M kg 1, 830
AN (SUS3os) M10X5 Smn 0000 M kg 1, 560
LAA+ (SUS304) M12X6 5mm 0000 B ke 1, 770
HEA R {SUS304) M16 X6 5mm 0000 B kg 1, 820
A+ {50S304) M10XY7 Onmn Q000 B % 1, 540
A+ (SUS304) M1 2X70m 0000 M kg 1, 790
R+ (SUS304) M16XT7 Omn 0000 B ke 1, 770
LA+ (5US304) M10X7 5m 0000 M. kg 1, 550
AN+ (SUs304) M1 2 X7 5mm 0000 M.~ kg 1, 780
MLAEA b (S53304) M16 X7 Smm 0000 A ke 1,720
EA F (SUS304) M12X80mm 0000 M. ke 1, 650
MA A+ (5U3304) M16X8 0m 0000 M. ke 1,770
v b {85400) M8 0000 B/ ke 202
v + {85400) M10 0000 1, ke 203
+ o b (58400) M12Z 0000 M. kg 206
+ > b (55400) M14 {0000 H. kg 198
+ > b (85400) M1 6 {ocon M kg 162
+ v b (55400} M18B _ {ocoo B ke 220
F b (55400} M2 0 0000 M kg 169
Fw b (55400) M2 2 -10000 M, kg 176
F v b {88400) M2 4 -[oooo M ke 226
S = b (85400) M3 0 0000 M. ke 246
F v b (88400) M3 B 0600 MH.“ke 260
+w b (85400) M42 0000 M. ke 347
F v b {85400} M4 8 £000 M/ ke 372
+ v b {8US5304) M8 0000 M./ ke 847
I b {5U5304) M1 0 0000 . ke 1, 008
+ o b (5US304) M12 0000 M. ke 1,084
- b (SUS304) M14 -|0000 B ke 1,388
+= b (8U8304) M1 6 0000 H. ke 906
+w b (SUS304) M18 0000 B ke 1,382
W16 BRI .xls 11716
1
T G =K B
St ki | s | B —ETE i
Fw b (SUs304) M2 0 0000 M. ks 1, 617
J~w b (5US304) M2 2 0000 M. ke 1, 559
Fw b (SUS304) M2 4 Gooo M. ke 1,491
Fw b (5US304) M2 7 0000 B, kg 1, 489
F oy b {5US304) M30 0000 M. ke 1, 488
F b (SUS304) M3 6 0000 L ke 1,573
b (SUS304) M4 2 0000 M. ke 1, 541
I b (55400) E 0000 M./ ke 431
£ b (85400 M10 0000 B kg 380
45w b (55400 M12 0000 H ke 387
£ v b {85400) M1 4 0800 B kg 593
£8F v - (55400) M16 0000 5. kg 455
Bk (85400) M20 0000 M~k 583
B> b (85400) M2 2 0000 M.~ kg 621
8[F o b (55400) M2 4 0000 M. ke 782
&+ (35400} M2 7 0000 1, ke 966
&« b (5U8304) M 8 4000 M ke 2, 444
) v b (5US304) M10 0000 B ke 2,423
55 1 (5US304) M1 2 0000 M. ke 2, 401
85w b (SUS304) M1l4 0000 o, kg 3,074
fo-w b (SUS304) M14 0000 B kg 2, 658
&+ h {sUs304} M20 0000 B, kg 2, 848
3 L (SUS304) MZ 4 0000 B kg 2, 789
T AL+ (85400) M12X160m 0000 A kg 352
JREMERL b (55400) MIB6X160m 0000 M./ kg 252
T SiEF 0 b (55400) MI2X200m 0000 M ke 313
I BEwRFN b (35400) M16X200m 0000 kg 226
JREEARL b (55400} M20X200mm 0000 A ke 258
J FERRA T {95400} M12X250m 6000 B, kg 319
T IERERA » ($8400) M16X250m 0008 m kg 21¢
] ESAEA T ($5400) M2 0X25 Cam 0000 M. ke 242
TR b (S5400) M12X315mm 0000 5. ke 304
JREEEHEA T (55400) M1BX315mn 0000 A, ke 200
J B ERBRE Lk (S5400) M20X315m 0000 H., kg 228
J AR b (55400) M1 2X400m 0000 B ke 276
T EEERA b (55400) M16X400m 0000 M. kg 192

183

ki1 6_HAR AR 4 s 12716



(H4E : )

. BET EE :
i ik b | a-pt B g s
J HEBERA F (53400) M20X400m 4000 B, ke 214
T R B (85400) M12X500m 0000 B/ ke 264
T FoEEANL F(S5400) M16X50Q0mm 0000 8. ke 182
TR EEER L b (85400) M20X50 Omm 0000 M. ke 203
TR R+ (55400) M2 4X500mm 0000 A ke 202
T AR+ (55400) M20X630m 0500 ke 2038
J BREEERA P {55400) M24X630mm 0000 A, kg 205
J ERBRL F (55400) M20X80 Omn 0600 1. ke 192
J BEMHEA b (55400) M24 X80 0mm 0000 M, ke 194
T AR b (S5400) M20X1, 00 Camn 0000 M. kg 188
TEMAA T (55400) M24%x1, 00 Cmn 0000 M. kg 185
JHEREA T (55400) M24X1, 250m 0000 B ke 188
LaEERA T (55400) MI12X160m 0000 M/ kg 374
LBE#MAA b (88400) M12X200mm 0000 M. kg 331
LEw#AL  (53400) M16X200mm 0000 . kg 254
LEERAA + (55400) M12X250m 0000 A, kg 295
LHERREA F (85400) M16X25 0mn 0009 M. kg 225
LIEERAN B (55400) M12X315mm [oooe M, ke 374
LR EA + {55400) M16xX31E6m 0000 M. ke 216
LR & {85400) M20X315mm 10000 M ke 220
LEERAL + (85400) M12X400nm 0000 - M/ ke 259
L3R - (55400) M16X400nm 0000 1M~ kg 205
LA EERA b (S5400) M20X4D0nm 0000 M. kg 210
LEEERA (55400} M12X500m 0000 o ke 236
LEBFEA T (55400} M16%X500m 0000 B/ ke 189
LEE#AL T (53400) MZO0X50 Omn 0000 B ke 197
(2) 5l Bh - WESEDS 1
Ep—F%—¢110~120 BORFIERH S S0450 £000 M. kg 610
ES b3y — RERSEH S SC450 0000 M,/ ke 610
PR Y — (7 — A1) IREMEM S 50450 0000 M ke 610
Fu—F—5110~120 {Evvd v EMSn  SCHnZB 0000 B ke 700
FEo—%—g110~120 vk v ek @NEESN S SCMnCr3B {0000 H. kg 805
F—F —¢ 110~120 b7 VSRR SR SCCxM3B 0000 M. kg 705
AGAPAI N h A 8RB PBC2 0000 M kg 2, 300
B A L - A S SR ESETY  LBC3 0000 H ke 2, 000
TE A F e BB A F FeREEY BC 3 0000 B ke 2, 000
kk16_HEHE S iR s 13716
(BEAE - )
o WE] B
EE Hik |z | Eifr IATH wE
BRRSEE AT S, ¥BE R &G FC200 0000 M. ke 530
®E R Bk s  FCR50 0000 M./ ke 530
SR h¥n ks FC250 0000 b, kg 530
BH A4 A HRBEHEE S FCD460 0600 . kg 935
R hTLges (A7)  FC25c (0000 kg 599
ZI v TR o hees, (47) Fo2s0 0000 M. ke 668
AR (R ) Ry aggecds (47  Fra50 0000 M ke 823
HHE SRESEEEER (1) FCD400 - 450(0000 A/ ke 9217
PRBA IREBEME  SC450 0000 H kg 3, 060
Ay FV Y RFMEM M SC450 0000 B/ kg 1, 290
EHY T (TIRE A b7 w —z«mm |k traey 4000 H/m3} 151,000
¥E) 1. ek HEERV LD LT b,
2. J:’B{W@Sciﬁﬁk ARl & L. &40 IS &+ 5,
3. ABHOHERmIL TS
(3) AT~ LA - MERUBREERA R RAE
GV ~ i [SUs304 2SS 1 <3 0800 M. kg | B-3-P47
BEEEIERF AR ~ 2 ISUS304 35 t <6 0000 o kg | B-3-147
R EIEATYVASA ~ A ISUS304 105t =W 0000 A kg | f-2-P42
ShRR FERE AT UVASAR 232 9% SUS304 6 t <10 0040 H, ke 10 N -k 3% t <6
ZRPAIEREATAVASAR  RAMEL SUS204 14< 1t 225 0000 M. ke 10 X 105 1514
R EREAF AV ASRAE  ThA bl 5US304 25< t 40 4000 B, kg 20 ex 105 t 514
AR ATV VAR ThAbTR SUS304  40< t <65 0000 M, ke 30 ox 0StSM
T LA NG SUS304 26=< ¢ =100 0000 kg | B—3-Pdg
A5 v AR i E SUS304  100<C ¢ =154 0008 M. ke 20 =% 255 g =100
27w v ASRE AR SUS304  150< ¢ =200 0000 M, kg 30 -2 255 g <108
AF v AFE A -r{li 5US403 25= ¢ =100 0000 M, kg 310
A ASEE R SUS403  100<C ¢ =150 0800 M, kg 20 -z 255 5 =100
zr/vzmﬁ ﬁx%% SUS402  150< ¢ =200 0000 M. ke 30 Wex 363 ¢ S 100
2 S e~ - A BR 15160~ 5000 95 % ¢ %100 0000 M kg | E-3-p40
%ﬁ%ﬁmm%wﬁﬁ w32 b7F [S156~8B0C  100< ¢ =150 0000 M ke 2 [-—x 5= 4 s 100
B R AT TEA sl [S15C~850C 160= ¢ 5200 0000 M. kg 4 7 25 g s100
kb s R RS kAl [SIEC~SE0C 200< ¢ =250 0000 B/ ke 6 -5 35 s =to0
B A R EBSES  xkapi ks |S15C~SBOC  260<C ¢ =300 0000 [ 8 - 265 g Z100

) 1L () oREMmRS-AEETHDE, RBEEMICTSICHE,
2. (D@ [HREMEMLSCLHI OERI-2 TS ¢ 300mEL T T, BiEREREMZ LD TR
(3) Tkl AR E IREBHs160~550C) DEREEET S,

HERMETR 7 7 v FE2SIHELTIZ E,

{43 KwmdLh

184

k16 #EHkER i xls 14716



(HAf : )

o BE] Ef 5 3
e i 2| -} Eifiy THTE L)
ARE A (P 2071 5008 jiry 3, B60
RKED A (PHE) 20~50 0006 ke 3, 860
AT L (Pp) 50~70 000C ke . 3, 860
KDL (P 2051 0000 ke 3, 860
KT b (PR 20~50 0000 ke 3, 860
KET A (PR) 50~70 0000 ke 3, 860
ARESTA (L) 203K 0400 ke 3, 860
AKESTA (L) 20~50 0600 ke 3, 860
AL (LA 50~170 0000 ke 3, 860
A T s (427?3) 105K 0000 kg 3, 150
AT A (FH 10~30 0050 ke 3, 750
¥E) J:W:FA@W"W@PAT@%;
1, BE:ERTA (Frrd R
3, B 147N, mn2 (150kg om2) Bl
3. BAkE: ERHETEA%
4. REBTEROETE : 300%LLE
5. FEE: iw TEE40~80
6. thE:1.20g “cmd
(5) "Nwx> (EETL)
NuFy (B L) 600  10FE R 0000 el 3,790
Ry FEy (BRIN) 600 10%%~204% 0000 Ehd: o 3, 430
Py (SRh) 700 10HCRE 000c M, # 5, 230
PRoxl (Gldh) 700 104~204 0000 M, # 4, 500
Mok (STh) 300 10#EEN 0000 B 4% 7,920
23w X (@A) 800 104k ~20# 0000 B % 7, 200
Ry &y (FRIbL) 500 " 108CETR 0000 VLN 9, 000
Ay (T 500 104~ 208 0000 B 8, 110
iy iy (St A) 1,000 10HCskig 0000 M. # 9, 910
Ny (GRRTA) 1,000 10H~208 Q000 M <+ 9, D00
Ny (HlTs) 1,100 10% kRS 0000 m/ 8 10, BOO
S F (G 1, 100 108~204 Q000 B % 9, 910
NoF (HETL) 1,200 104y 000 RS 11, 700
MRoF (FHRAA) 1,200 10#~ 208 0000 M & 10, 800
Mo (GRIA) 1,350 10§THM DO0G B8 13, 908
Ly Fy (SR A) 1,360 " 10 ~20% 0000 B 12, 6OG
sy (HHRTA) 1,600 10 ik 0800 M H | 14, 400
Ry (GlETA) 1, 600 10#C~2080 0500 M8 13, 500
Kk16_ BRI s 16718
HE] EE IR S
S bk vl = | B —w i
Ao (BEdh) 1,600 108cEH 0000 e P8 15, 600
Ry X (BHRTh) 1,600 10fc~204% 0000 VL 14, 400
Ay ¥ (BRIL) 1,850 10R71E 0000 M # 17, 600
Ay E (BEEL) 1, 650 10§~ 204 0000 SRS 16, 200
Ay Fy (G L) 1, 800  1OHC AR 0000 (S0 S 18, 500
Ay Fy {(ApEdA) 1, 800 108 ~20#8 Q000 [eE 4 18, 200
¥y (BRI A) 2, 000 10¥r A 0000 M. B 21, 600
Ny ¥y (BRI 2,000 10#~204C 0000 B 15, 800
Ry (GRTL) 1,800X2,600 10McER 0000 el 4 10, 800
Ry ¥ (BEIdN) 1,800X2, 600 104~ 204 0000 [P 9,910
Ayl [GRTN) 2,000 X2,.900  10MCER 0000 [0S 10, 800
Ao (BT L) 2,000X2.900 104 ~208 0000 7% 11, 700

185

Kk 16_{ER

Hifxls 16716



